Finding Inverses:

Steps:

Find the inverse.	Graph both $f(x)$ and $f^{1}(x)$
1. (2, 1), (5, 1), (2, -4) coordinates of a triangle	У
Find the inverse.	Graph both f(x) and f ¹ (x)
Find the inverse. 2. <i>f</i> (<i>x</i>) = 2 <i>x</i> - 6	Graph both $f(x)$ and $f'(x)$
Find the inverse. 2. $f(x) = 2x - 6$	Graph both <i>f(x)</i> and <i>f¹(x)</i>
Find the inverse. 2. <i>f</i> (<i>x</i>) = 2 <i>x</i> - 6	Graph both $f(x)$ and $f'(x)$
Find the inverse. 2. <i>f</i> (<i>x</i>) = 2 <i>x</i> - 6	Graph both $f(x)$ and $f'(x)$
Find the inverse. 2. <i>f</i> (<i>x</i>) = 2 <i>x</i> - 6	Graph both $f(x)$ and $f^{1}(x)$
Find the inverse. 2. <i>f</i> (<i>x</i>) = 2 <i>x</i> - 6	Graph both $f(x)$ and $f^{1}(x)$
Find the inverse. 2. <i>f</i> (<i>x</i>) = 2 <i>x</i> - 6	Graph both $f(x)$ and $f^{1}(x)$
Find the inverse. 2. <i>f</i> (<i>x</i>) = 2 <i>x</i> - 6	Graph both $f(x)$ and $f^{1}(x)$
Find the inverse. 2. <i>f</i> (<i>x</i>) = 2 <i>x</i> - 6	Graph both $f(x)$ and $f^{1}(x)$
Find the inverse. 2. <i>f</i> (<i>x</i>) = 2 <i>x</i> – 6	Graph both f(x) and f ¹ (x)
Find the inverse. 2. <i>f</i> (<i>x</i>) = 2 <i>x</i> – 6	Graph both f(x) and f ¹ (x)
Find the inverse. 2. <i>f</i> (<i>x</i>) = 2 <i>x</i> – 6	Graph both f(x) and f ¹ (x)
Find the inverse. 2. <i>f</i> (<i>x</i>) = 2 <i>x</i> – 6	Graph both f(x) and f ¹ (x)
Find the inverse. 2. <i>f</i> (<i>x</i>) = 2 <i>x</i> – 6	Graph both f(x) and f ¹ (x) Y
Find the inverse. 2. $f(x) = 2x - 6$	Graph both f(x) and f ¹ (x) Y
Find the inverse. 2. $f(x) = 2x - 6$	Graph both f(x) and f ¹ (x) Y
Find the inverse. 2. <i>f</i> (<i>x</i>) = 2 <i>x</i> - 6	Graph both f(x) and f ¹ (x) Y
Find the inverse. 2. $f(x) = 2x - 6$	Graph both f(x) and f ¹ (x) Y



If you don't have a graph, how do you know you solved for the inverse correctly?

PROVE that you solve for the inverse correctly in number 3.